lget_keys()

10 Dk St Pinomo: koo

broadcast key(pkyun) b

retun isAuthKeyReceived

gel_pariion_size()

paritioning(serverData)

|.retum poronsie, parserverdata

return parttionSize,

get_rands()

permutation_based_cuckoo_hashing(plainiDs)

retum randNum

return bucketiDs.

muti_permutation_based_ouckoo_t

Ge1_Windowed|Pkyomo, DUCKELDS, Partiionsize)

get_batched_windowed(Pkngmo, DUCKeliDs, PartiionSize)

batchedWindowedBucketiDs = get_batched_windowed_bucketiDs(bucketlDs, PrtiionSize)

encrypt_batched_windowed(pkye, batchedWindowedBucketiDs)

retum encryptedBatchedWindowedBucketDs =

launch_ Kauih(Phhoma))

etify_k k. Ky b
= okﬂm[]

compute_powers(encryptedBatchedWindowedBucketiDS, Poro)

evaluate_compute_powers(encryptedBatchedWindowedBucketiDS, Pyomo)

retum allPowersiDs.

return allPowersiDs

ovaluate, IPowerlDs, randNum)

return evaluatedResult

modulus

modulus_switching(evaluatedResult)

fetu modSwitchedEvaluatedResult

retum modSwitchedEvaluatedResult -

decryptResuli(modSwitchedEvaluatedResull, Sknomo)

return decryptodRosult

retum decryptedResult




